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1.
As Ben might say, I’ve had this dream.  Identify these paintings of reclining female nudes FTP each.

A. This 1800 oil on canvas by Francisco Goya shows the Duchess of Alba.

Answer: Maja Desnuda or Naked Maja
B. This 1863 Manet portrait of a courtesan outraged the Paris Salon.

Answer: Olympia
C. This 1538 painting by Titian inspired both Goya & Manet.  The title figure has a garland in her hair.

Answer: Venus of Urbino
2.
Name these characters created by Francois Rabelais, 5-10-15.

A.  This guy is the son of Gargantua and Badebec.

Answer: Pantagruel
B.  She is the mother of Gargantua

answer: Gargamelle
C. He is Pantagruel's greatest friend, with whom he fights the Dipsodes and roams the Latin Quarter.

Answer: Panurge


3.
Did you know that it’s illegal in the state of Missouri to use X-rays to sell shoes?  Well, fortunately it’s not illegal to use them for astronomy, so in that vein, answer the following.  No lead blankets are required.

1) This apparently major constituent of the mass of the universe is detected by X-ray emission caused by gravitational disturbances.  There are two main types, theoretically, machos and wimps.  What's the general term, for five points?

A: dark matter
2) This is the collapsed remnant of a star of around a solar mass.  About 10,000 times denser than lead, they tend to be about the size of the earth.  For 10 points, what type of star is the normal end product of the stellar life cycle?

A: white dwarf
3) This is the inner radius of an accretion disk.  The magnetic field from the central compact object exerts a pressure on the inward flow of gas that is comparable to the dynamic pressure of the flow.  For 15 points, what is this distance?

A: Alfven radius
4.
Identify these treaties that the US forged with Great Britain in the 19th century FTP each.

A. This 1817 convention and treaty provided for the bilateral disarmament of the Canadian border.

Answer: Rush-Bagot
B. This 1842 treaty settled the boundary between Maine and New Brunswick which had started the Aroostook War.

Answer: Webster-Ashburton
C. Though it was drawn up in Geneva, this 1871 treaty that settled the Alabama claims was named for American city in which it was signed.

Answer: Treaty of Washington
5.
For 5 points each, given a work, identify its Romantic Era composer.

A) Der Freischutz                               Answer: Carl Maria von Weber
B) Carnaval for Piano                           Answer: Robert Schumann
C) Symphony #4 in A, "Italian"          Answer: Felix Mendelssohn
D) Symphony #8 in B, "Unfinished"               Answer: Franz Schubert
E) Capriccio Espagnole                  Answer: Nikolai Rimsky-Korsakov
F) Symphony #6 in B, "Pathetique"               Answer: Pyotr Tchaikovsky

6.
30-20-10, identify this author from a list of works.

30) Hay Fever, in which each member of an English family invites a guest for the weekend, only to spend the entire weekend playing word games only the family understands.

20) Cavalcade, which traces an English family from the Boer War to the end of WWI, with a bit on the Titanic thrown in for good measure.

10) Blithe Spirit, in which a woman returns from the dead to haunt her husband’s new wife.

Answer: Noel Coward
7.
30-20-10, identify this military campaign.

30) It really began when an invading force attacked approximately 350,000 non-combatants, slaughtering about 250,000 of them at Toulon‑sur‑Arroux.

20) The invading force pursued a rebel band, and laid siege to them at Avaricum, killing 40,000 more.  The leader, Vercingetorix and 800 men escaped to Gergovia, where they routed the invaders.  Finally, Vercingetorix was captured at the Siege of Alesia.

10) The leader of the invaders, Roman proconsul, Julius Caesar, commented in writing on this campaign at some length.

Answer: Gallic Wars (accept logical equivalents)

8.
Sure, you’ve heard about Ytterby, Sweden.  And, you think you know everything about it, since you can name all four elements named after it.  Mm-hmmm.  For 10 points each, answer these questions.

a) First, this man analyzed the ore yttria and found it to be a composite of silica and some other earth metal; he became the second man to have an element named after him.

Answer: Johan Gadolin
b) Second, name the Swedish chemist (student of Berzelius) who isolated erbium and terbium from that ore.

Answer: Carl Mosander
c) Finally, name the fifth element to come from the same ore, this one named after the hometown of its isolator, Georges Urbain.

Answer: Lutetium
9.
Let us take a moment to look back with pleasure at the life and career of Phil Paley.  Who?  Phil Paley, of course – the guy who was the monkeyboy on Land of the Lost.  For 10 points each, answer these questions about Phil Paley.

a) At the age of 9, he became the youngest black belt in US history, as a student at what man’s karate school?

Answer: Chuck Norris
b) What was the name of the monkeyboy on Land of the Lost?

Answer: Chaka
c) Paley has re-entered the American consciousness recently, because Rodney Sheppard, the guitarist for this band, was mistakenly identified on a VH1 special as having played Chaka as a youth.

Answer: Sugar Ray
10.
Tweek Coffee comes exclusively from South Park.  Given a type of coffee, name the nation from which it comes FTP each.

A. AA

answer: Kenya
B. Mandheling

answer: Indonesia
C. Kona

answer: United States
11.
Here are some more economics definitions; give the term FTPE:

a)
An obligation of the Treasury maturing within one year, bearing no interest but sold at a discount.

Answer:
T-bill or Treasury Bill

b)
An issuing of a number of shares for each share of stock currently outstanding

Answer:
stock split
c)
Finance and investment company that buys a variety of shares and sells units from the combined portfolio to the public

Answer:
mutual fund

12.
Some folks really can fold maps.  Name these projections FTPE:

(a) This is the best known conformal projection, useful to sailors because all angles can be accurately drawn as straight lines.  However, it skews size so badly that Greenland appears as large as South America.

Answer: Mercator projection

(b) This is the most widely used equal area projection; it gets size right but badly distorts shape.

Answer: Mollweide projection

(c) In 1988 the National Geographic Society adopted this compromise projection for its standard world map.

Answer: Robinson projection

13.
30-20-10, name the author from a list of works and pseudonyms.

30) As "Rosetta Stone", "Because a Little Bug Went Ka-Choo"

20) As Theo LeSieg, "I Wish that I Had Duck Feet" and "Ten Apples Up on Top"

10) As his most familiar pseudonym, "You're Only Old Once!" and "Yertle the Turtle"

Answer: Theodore Geisel (or Dr. Seuss)

14.
Identify these French sociologists FTP each.

A. Given that he coined the term 'sociology,' this author of The Course of Positive Philosophy could be called the first sociologist.

answer: Auguste Comte
B. He examined The Rules of Sociological Method as well as Suicide.

answer: Emile Durkheim
C. This semiotician's sociological examinations include Mythologies and The Empire of Signs.

answer: Roland Barthes
15.
Identify these odd things found in cells FTP each.

A. These 'holes' allow for the storage of substances and allow for excretion

answer: _vacuoles_

B. These cylindircal organelles don't show up - except when they organize microtubules to form the spindle during cell division

answer: _centrioles_

C. These organelles contain various digestive enzymes.  Sometimes they rupture & destroy the cell

answer: _lysosomes_

16.
Given a description, name the tale by Nathaniel Hawthorne FTP each.

A. Parson Hooper wears this spooky thing

answer: The _Minister's Black Veil_

B. A scientist wants to see if people would make the same stupid mistakes all over again

answer: _Dr. Heidegger's Experiment_

C. Georgiana Aylmer is perfect - except for one thing - according to her husband

answer: The _Birthmark_

17.
Identify these Supreme Court cases pertaining to state labor laws.

In this 1905 case the Court voided a New York law limiting the work day to ten hours, arguing that the law violated workers' freedom of contract.

Answer
Lochner V. New York 

In this 1908 case, the court upheld a state law limiting the work day to ten hours for women, largely on the basis of sociological data regarding the effects of long work hours on the health and morals of women.

Answer
Muller V. Oregon
In this 1917 case, the court accepted a ten hour work day for both men and women, but voided the state's minimum wage law, again citing workers' freedom of contract.

Answer
Bunting V. Oregon
18.
For the stated number of points, answer these questions about the beginning of the Trojan War.

a) First, 5 points for one, 15 for both, at whose wedding did Eris throw the apple of discontent?

Answer:  Thetis and Peleus 

b) 5 points each, name the three goddesses that fought over the apple in question.

Answer:  Aphrodite, Hera, and Athena
19.
Not counting Alexander Karadjordjevic, the claimant to the Yugoslav throne, there are 10 active European monarchies.  For 5 points each, given a nation, name the ruling monarch.  (If there’s a number, you must give it as well to earn the points.)

a) Netherlands


Answer: Beatrix

b) Norway


Answer: Harald V

c) Monaco


Answer: Rainier III

d) Spain


Answer: Juan Carlos I

e) Denmark


Answer: Margrethe II

f) Luxembourg




Answer: Jean

20.
According to the Kyoto Accords the United States will have to reduce its greenhouse gas emissions.  One of the most practical ways to do this is through increased use of nuclear power.  So, FTPE, identify the following types of commercial reactors that are used here and abroad to produce such electricity.

1) This reactor type needs a U-235 enrichment to between 2 and 4%.  Its water cooled, moderated and reflected.  It's most notable for cruciform control rods and in-core boiling.  The control rods are inserted from the bottom of the core in an effort to flatten the axial flux profile.  There is only a primary coolant loop.  Also, this type of reactor is manufactured exclusively by GE.

Answer: 
boiling water reactor or BWR

2) This reactor type also needs a U-235 enrichment of 2-4%.  Also water cooled, moderated, and reflected it uses control rod clusters which are usually fully removed from the top of the core during power runs.  Water is not boiled in the core but in steam generators.  There are primary and secondary coolant loops.  This type of reactor is manufactured by Westinghouse, ABB/Combustion Engineering, and other vendors around the world.

Answer: 
pressurized water reactor or PWR

3) This type of reactor utilizes a mixed uranium and plutonium oxide fuel, with 10-20 weight percent plutonium.  Hexagonal pin bundles are typical, as is the liquid sodium coolant.  There is no neutron moderation.  A uranium-238 blanket is another typical feature present to create new fuel for use in later cycles.  Examples are EBR-I and II and the Superphenix in France.

Answer:
liquid metal fast breeder reactor or LMFBR

